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QID : 501 - Creating provision for bad & doubtful debts is an application of which of the following principles /concepts :
I=MNeT IR WY FUT B IR HAT R & F b Rigrai/e-nat 31 ugfa § 2

Options:
1) Realisation Principle

2) Full Disclosure
quf gare

3) Conservatism

4) Money Measurement

g1 fawas A

Correct Answer: Conservatism

Candidate Answer: Realisation Principle

QID : 502 - A company has a machinery costing Rs. 5,00,000.
Depreciation is charged as follows :

Yr 2010 - Rs. 50,000

Yr 2011 - Rs. 30,000

Yr 2012, 2013 - Rs. 50,000

Which principle is violated ?

TH B! b UM 5,00,000 = Hed Bl A B
HeUeN FEfRiad UeR § formm e 81
g9 2010 - 50,000 =
T 2011 - 30,000 =
99 2012, 2013 - 50,000 =&
T oA I T ?
Options:
1) Materiality
EClEa|

2) Substance over form
PR & FHW IR

3_) Consistency Principle

4) Timeliness
Correct Answer: Consistency Principle

i R

Candidate Answer: Consistency Principle

QID : 503 - If a liability is decreased, then for the asset to be constant, there will be a corresponding :

T 2T B g S o et & fRR 5 & AT . omawass §, 39& daweul
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Options:
1) Ingrease in Capital

oot A gfs @

2) Decrease in Capital
Aphar

3) Decrease in Profit
& wet

4) Decrease in Asset

ST H HHI B
Correct Answer: Increase in Capital
ekl

Candidate Answer: Decrease in Asset

QID : 504 - Withdrawal of goods from stock by the owner of the business for personal use should be recorded by

PRIGR & Ao gRI Fof TaWT & g wid § M 15 axgsit & [ gRI RepTe fovan S amfe 2
Options:

1) Debiting Stock Account and Crediting Capital Account

Tl T8 B 9 3fde Hve IR Ut a | iee e fowam oI =gy

2) Debiting Capital Account and Crediting Drawing Account

Uoit e H 9 Sfae b 3R 3Rl o 1 hi$e S fova ST =1y

3) Debiting Drawing Account and §rediting Stock Account
TERUT TG B 3fde v 3R Wi dQ § i3 o foan ST anfgy

4) Debiting Stock Account and Crediting Drawing Account
Wie a8 T ¥ 3T T 3R e o A e w=ab fFwan s gy

Correct Answer: Debiting Drawing Account and Crediting Stock Account

e T H ¥ Sfie 7 ofR wie e # hfse = o a =1fee

Candidate Answer: Debiting Stock Account and Crediting Drawing Account

e 0 & I 3fge P 3R R0 4% B e HF o S aige

QID : 505 - A second hand car was purchased for Rs. 2,00,000 and depreciation is charged @ 10 % on written down value method and car is sold after 2 years for
Rs. 1,40,000. Find the profit or loss on the sale of the car.

ng%rwﬂwz,oo,oomaﬁaﬂa‘hs‘ IR 39 IR BT Ted A & SR 10% P <R W eI for 1| R &1 a a1 1,40,000 = Bl 39 & T2 | HR B! ot IR A
[ I+ & ?

Options:

1) Loss of Rs. 20,000

20,000 ¥ g1

2) Loss of Rs. 22,000
22,000 = BT

3) Loss of Rs. 11,000
11,000 ¥ g1

4) Profit of Rs. 11,000
11,000 = <Y

Correct Answer: Loss of Rs. 22,000
22,000 = BT

Candidate Answer: Loss of Rs. 22,000
22,000 = B

QID : 506 - Which of the following is true ?

AT d S PH-w i g ?
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Options:
1) Payment of liability Causes an increase in Owners equity

F YTaH I @ 3 S § 9fg S ®

2) The Collection of an Account Receivable will cause total assets to increase

S et s A

3) The accounting equatlon is Assets + Liability = Owner's equity

= T} 3 gt

4) Purchase of an asset, either in cash or Credit, does not change the owners equity

Wm%%aﬁ%%m@ﬁﬁmaﬁaﬁé@ﬁﬁ

Correct Answer: Purchase of an asset, either in cash or Credit, does not change the owners equity

Te A1 Ffde § SR @ W Tl A St # uRacH T gl

Candldate Answer: The Collection of an Account Receivable will cause total assets to increase

B I Y pa it H

QID : 507 - Which of the following is true when debtor pays his dues ?

T IR MU 3 R BT YITH FHR ST § ot Feforad & 3 o wgl § 2

Options:
1) Asset side of The Balance sheet will decrease
Yo i 3T KT a1e Wi HH g1 S

2) Asset side of The Balance sheet will increase

o e & s aret W H gis gi

3) The liability side of The Balance sheet will increase

o 2fie & Yo et W B g gt
4) There is no change in total asset or total I|ab|||t|es
P SN a1 ot gaarelt |

Correct Answer: There is no change in total asset or total liabilities

Pl R A He uanedi

Candidate Answer: Asset side of The Balance sheet will increase

oo e & et aret v H gfs g

QID : 508 - Only significant events which affect the business must be recorded as per the principle of

HIq AEAYYl YT Sl HRIR B GHIRT BY, 376! [0 Rigid & 38R RS S aigu ?
Options:

1) Separate Entity

9y Uiy

2) Accrual

3) Materiality
EEREa]

4) Going Concern

g

Correct Answer: Materiality
cATHD AT

Candidate Answer: Materiality
EEEa]

QID : 509 - Treatment of Goods given as free samples are

: 3 T F AR R G T axqe
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Options:
1) Added to Carriage Inward
SIFTA TTE g H MRS 9 Sl §

2) Added to Bad Debts
SN FHT H =MA B St B

3) Deducted from Advertisement Expenses

faso @ & @ uers Rt 3

4) Ded.ucted from Purchases

GlE H  verg ol 8

Correct Answer: Deducted from Purchases

e # 9 wer S g

Candidate Answer: Deducted from Purchases

e ¥ 4 9T ol §

QID : 510 - Shyam bought goods having the list price of Rs. 50,000 from Ram less 20% trade discount & 2% cash discount and paid 40% by cheque. What is the

amount paid by Shyam ?

T 7 I W 50,000 & GA-HHA P I Wl R IUH F 20% FUR FET AR 2% Fhg g1 I 3R 40% IR A6 I & W 7 e = &1 Yiram foman 2

Options:
1) Rs. 16,000
16,000 =

2) Rs. 15,680
15,680 &

3) Rs. 19,600
19,600 =

4) Rs. 15,600
15,600 &

Correct Answer: Rs. 15,680
15,680 =

Candidate Answer: Rs. 15,680
15,680 =

QID : 511 - Which of the following is true ?

frefefea e @ 2

Options:

1) Bank Account is a Personal Account.
¥ =T v st @ g

2) Stock of Stationery Account is a Nominal Account.

G I A BT Wi Ueb 3M15-o09 Al §

3) Return Inward Account is a personal Account.

A% d 3HaH ol T il ol

4) Outstanding Rent Account is @ Nominal Account.
ST fHRTT T U 3M1T-30g Al §

Correct Answer: Bank Account is a Personal Account.
Y T v it @ g

Candidate Answer: [ NOT ANSWERED ]

QID : 512 - Periodic total of Purchase day book is posted to

Wiie Tadh AsmE | Hafdie Sis @t ufafd wel o ot 8 2
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Options:
1) Creditor Account

TER & oRd H

2) Debtor Account
HaaH

3) Purchase Account

e gadt oa o

Download More PapeSafseotiongommisicrovtJobsAlert.In

4) Purchase Memorandum Account

Wi daeh oA |

Correct Answer: Purchase Account

Tg Hed o A

Candidate Answer: Purchase Account

Tle e o |

QID : 513 - Which of the following statements is true ?

Fefefea § ¥ SH-a1 HyT I8 8 ?

Options:

1) Bank charges increase debit balance shown as per Bank column of the cash Book

A5S TE & 9 Pl | WY S8R 9% THR Sfoe B9 & 9g13d §

2) Bank charges increase debit balance as per Bank pass Book

Yo B! U 9 F IR

b UHR Sfee v B F@T A

3) A cash sale of a non- tradlng asset is recorded in the Journal proper

R-UR

TS5t g oid § Rebrs

4) Cash discount allowed by the business will appear on the debit side of the debtors account

R #

Sl

Correct Answer Bank charges increase debit balance as per Bank pass Book

% B

U % & AR 9 UHR e AT Bl 9@ da §

Candidate Answer: [ NOT ANSWERED ]

QID : 514 - After the preparation of Ledgers, the next step is the preparation of
W TR HA & a6 SATS TR H FT IR FAT Gl § 2

Options:
1) Trading Account
icll

IR

2) Trial Balance

Y TR

3) Profit and Loss Account

-1 aRar

4) Balance sheet

Correct Answer: Trial Balance

AN T eqor

Candidate Answer: Trial Balance

Y Teor

QID : 515 - Total of Sale Book was not posted to the ledger. What is the kind of error ?

o Tt F A F P TR A TH A | WA UER PR T 2
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Options:
1) Error of omission

q%

2) Error of commission

kSl

3) Error of principle

4) Compensating error

Download More PapeSafseotiongommisicrovtJobsAlert.In

Correct Answer: Error of omission

k53

Candidate Answer: Error of omission

ES3

QID : 516 - Which of the following statements is correct ?

Fefefed § ¥ SH-a1 HyT I8 8 ?

Options:

1) Inventory valuation affects only the Income Statement.

TR Hetie pad 3a-fAarur & yuifdd wrar g

2) Under casting or Overcasting of subsidiary Book is an error of commission.

e aE1 Siis B 1 MR g o U e ©

3) Capital expenditure wrongly treated as revenue expenditure is error of commission.
Uoft o Y Tt I o o AT T 4 §

4) Inventory should be valued at lower of historical cost and current replacement cost.

TR &1 s

AT & HH P IR IR

TfaeTo 9T OR fasa ST =R

Correct Answer: Under casting or Overcasting of subsidiary Book is an error of commission.

TETTD S S HH 1 e @ S U o &

Candidate Answer: Under casting or Overcasting of subsidiary Book is an error of commission.

T S8 SitS B 1 e faam Sl U Hd §

QID : 517 -
Match the following:
FrEfatEs = fem o
| ]
A) Trial Balance 1) Error of Principle
=y TiEm Yaif=maf
B) Suspense Account 2) Error of Commission
Rkl PR

C) Sale of Rs. 1,150 to Rajesh

entered in Books as Rs. 1,510

AT DI 1,150 & 1 [alsn! BT
|l g 1,510 & fer@n &

3) Summary of ledger Accounts
WIA-ge] T 9

D) Sale of old furniture treated as
sale of goods

RH AT @1 fal @1 O

w1 {3 aF =

4) One-sided errors

Tw uatm A

Options:
1) A-3,B-2,C-1,D-4

2) A-3, B-2, C-4, D-1

3) A-3, B-4, C-2, D-1

4) A-3, B-4, C-1, D-2

http:/thepracticetest.in/csdecjan1 7/rm&‘é&ma\sM@iﬁj%P@éﬁpigéﬁ@ﬁmm onicbsmrridsotesesstert. In

6/35



1/25/2017 Download More PapeiafSsisction@ommisicrovtJobsAlert.In

Correct Answer: A-3, B-4, C-2, D-1

Candidate Answer: A-3, B-4, C-2, D-1

QID : 518 - Which of the following is true relating to a trial balance?

AN g F Ty F FTH Y BH-91 HUH eI 7 ?
Options:
1) If a trial balance tallies, no transaction is omitted.

e IS WY TR0 VA WA 8 @ BIS AT B ! ol |

2) A trial balance does not tally if a transaction is omitted.

IS HIS A ge oL af AT Tefor At 76 @ |

3) It is mandatorily prepared to ensure correctness of a Balance sheet.

Ig FaRid: 39 UPR T9R 5 o 7 6 Soiw e o1 et e 9 v o o |

4) A trial balance is a summary of the General Ledge( Balanqes outstanding on a particular date.
A wdieror, T FRAT G T ST A Wi 2T B IR S |

Correct Answer: A trial balance is a summary of the General Ledger Balances outstanding on a particular date.

QY g0, T AR aria ! ST W |IaT S BT IR © |

Candidate Answer: It is mandatonlé prepared to ensure correctness of a Balance sheet.

Tg AaRd: 39 YR R a1 Wil € 7 S 2fie o we) S gRiEa frar e g% |

QID : 519 - Which of the following errors will be revealed by the Trial Balance?

Y wtero R AT & § HH-T 3t &1 uar wen ?

Options:
1) Compensating error

2) Errors of omission

ES3

3) Errors of principle

4) Wrong balancing of accounts
gl T TTed QY

Coryect Answer: Wrong balancing of accounts
A BT T A

Candidate Answer: Errors of omission

ES3

QID : 520 - Prepaid expenses are valued in Balance sheet at

qda Sl Bl 9oy Hiie § Pyl ediichd [l S § ?
Options:
1) Replacement Cost

SIUG

2) Current Cost
SING)

3) Cqst to acquire less accumulated amortization
FH Ifad uR=MeE O 3 anrg

4) Cost less expired portion
PIARHNT HRT B HH HIb ARTd

Correct Answer: Cost less expired portion

P HIT B HH HIP ARTd

Candidate Answer: [ NOT ANSWERED ]
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QID : 521 - Which of the following equations is correct ?

AR & @ Bi-ar g0 9el R 2

Options:

1) Gross Profit + Sales + Direct expenses + Purchases + Closing balance = Opening Stock
ToHd A + 90! + T o9 + 4 + 3id AW = TRIG Tib

2) Gross Profit + Sales + Direct Expenses + Purchases - Closing stock= Opening Stock
THd A + 9T + T 9 + 53 - i Wi = TRAS Wi

3) Gross Profit + Opening stock + Direct Expenses + Purchases - Closing stock= Sales
Tohd A + URMD Wi + Tdal 99 + Y - Sifad 'idb = ot

4) Gross Profit - Operling stock + Direct Expenses + Pvurchases + Closing stock = Sales
Thd AT - URIS Wi + T 9 + a +3ifay Tie = fawt

Correct Answer: Gross Profit + Opening stock + Direct Expenses + Purchases - Closing stock= Sales
THd A + URAD Wi + T T + 3 - 3ifad widb =

Candidate Answer: Gross Profit - Opening stock + Direct Expenses + Purchases + Closing stock = Sales
Fobel A - URTND Wb + U& 4 + Y +3ifad T =

QID : 522 - At the time of finalization of accounts, bad debt recovered account will be transferred to

oGl B ST T S T 3N HUT IYeH kA D e sfaRa fosar S 2

Options:
1) Debtors Account

TR a9

2) Profit and Loss Account
Y1 o H

3) Profit and Loss Ad] ustment Account

SR g TR

4) Profit and Loss Appropriation Account
Y 3R g1 fafaier o

Correct Ansvyer: Profit and Loss Account
-5 o

Candidate Answer: Profit and Loss Adjustment Account

Y 3R B FArEeH o d

QID : 523 - Contingent Liabilities are shown :

3D g Pl {5y THR ifar o & ?

Options:
1) Credit side of balance sheet

o e 3 Hfse arett iR

2) Profit & Loss Appropriation Account
Y 3R B Rt o

3) Both Profit & Loss Account & Balance sheet
3R g1 TRET T 9o Rie, S A

4) None of the options

EREREEE )

Correct Answer: None of the options
TH A DI 6!

Candidate Answer: [ NOT ANSWERED ]

QID : 524 - If outside liability and owners equity are added we get :

TS o1 3T 3R Tl B St I Sile faam Sy oY o uTed gvm 2
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Options:
1) Total Liabilities
Egl ad

2) Net Worth
Faa vt

3) Share Holders Fund
TR YRB! Bt A

4) Gross Block
Hhd sl

Correct Answer: Total Liabilities

$d gl

Candidate Answer: Net Worth

QID : 525 - XYZ send goods worth Rs 1,00,000 to Y on consignment basis at 20% above the cost price. The goods were sold by the consignee on a mark up of 15%
on invoice price. Find the total mark up % over the cost of the goods.

XYZ 1,00,000 ¥ Hed FT YHM WU YR W, 559 T I 20% 3% HHd W Y B Jordl ¢ | I8 THH RN gR1 i Hiad 31 15% ffd sivd iR o= fear Sar g1
A P AR F SR W G afid BIAd % HATGH B

Options:
1) 30%

2) 38%
3) 35%

4) 25%
Correct Answer: 38%

Candidate Answer: 38%

QID : 526 - Which of the following statements is true ?

T A PH-I Y TR ?
Options:
1) Provision for doubtful debts represents the amount that can not be collected.

TRTY-F01 BT JUSY HA BT 31 g g I Forwet I 7 S et |

2) The distinction between Capital and revenue items is important because it is of fundamental importance to the determination of profit.

Uit 3R IeTed Al & o U Hgayul § i g a Fufd w1 F o o &9 3 smawas 1

3) Goods lost by fire need not to be accounted for since they are not sales.

ST # F8fE GU AT B fewrd § 6T o AT i 9% o el g |

4) Free samples received are business gain

U §U - Yeeb A BRISR BT e 5 |

Correct Answer: The distinction between Capital and revenue items is important because it is of fundamental importance to the determination of profit.

Ueit 3R Wod Al & o Wg Aeayyl § e a8 @ P F7 & o ghardt w U § emawae § |

Candidate Answer: The distinction between Capital and revenue items is important because it is of fundamental importance to the determination of profit.

Uit 3R o1 A} & o g Hgayu § Fie g a Fufid w1 F o o &9 3 smewas § 1

QID : 527 - When benefit of an expense (which is generally of revenue nature) extend beyond an accounting year, it is called

e et o (7 o AR Iod Ui T 7) T e R Rt 9N % a1 ot e 7, O S I PhEd § 2
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Options:
1) Revenue expenditure
XoRd g

2) Capital Expenditure
ot =g

3) Deferred Revenue Expenditure
R IoTa o

4) Recurring Profit
et @y

Correct Answer: Deferred Revenue Expenditure
IR Xorea o

Candidate Answer: Recurring Profit
oy

QID : 528 - Wages paid to workers for erecting machinery is :

T & TIo & T SR @ & T Ao @ g 2
Options:

1) Revenue Expenditure

XIS g

2) Capital Expenditure
Yot o3

3) Deferred Revenue Expenditure
R Iora

4) Wages Expenditure
qﬁ@ qgq

Correct Answer: Capital Expenditure
ot =g

Candidate Answer: Capital Expenditure
ot &

QID : 529 - Which of the following is an external cause of depreciation

ST Q PH-T1 JeT B P o] SR ?
Options:

1) Revenue repair and maintenance
oI TRE 3R SRE0T

2) Misuse
TTad AT

3) Obsolescence
SIEENEE

4) Wear and tear
gege

Correct Answer: Obsolescence
Sy

Candidate Answer: Wear and tear

e

QID : 530 - Underestimation of useful life of a depreciable asset will lead to

et g B 1 archt ST & U BRIGT B B 3fids I J &1 g 2
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Options:
1) overstatement of profit
oY &1

2) excess charging of depreciation every year

¥ 4 3 & fog

3) overvaluation of asset in Balance sheet

o <fie & st &1 31 Yt

4) short charging of depreciation every year

Ui 98 Yoo 1 & AT B dTo! IRl

Correct Answer: excess charging of depreciation every year

uifd o Hew BT & forg oifereh =l e

Candidate Answer: short charging of depreciation every year
ufa af e g1 & o & 9Tel @

QID : 531 - A firm has a policy of charging depreciation @ 10% on plant and machinery under Written Down Value (WDV) method. If the book value of the same
was Rs 81,000 on 31.3.16. Find the original cost, if the same was purchased on 01.04.2014.

ot wf @1 i B 1% a8 g1 Tew R & areiv T ofR A=A TR 10% 3 o) A o5 @] el ¢ | A 31.3.16 1 39T 3ifdhd T 81,000 T &1 ol JUH! G
P ARY, TG ID! WG 01.04.2014 HI &I T8 §

Options:

1) Rs 1,10,000

1,10,000 =

2) Rs 1,00,000
1,00,000 =

3) Rs 81,000
81,000 %=

4) Rs.90,000
90,000 &

Correct Answer: Rs 1,00,000
1,00,000 =

Candidate Answer: Rs 1,00,000
1,00,000 =

QID : 532 - What is included in an Inventory?
T el B o i 8 2

Options:

1) Raw Material

Dl Hid

2) Stores & Spares
qHHE

3) Loose tools
S-S SUDRUT

4) All of the above
ol

Correct Answer: All of the above

Candidate Answer: All of the above

QID : 533 - Opening stock Rs 15,000, Closing stock Rs 6,000 and total purchase during the year was Rs 30,000. It was found that opening stock inadvertently
included postage stamp of Rs 1,500. Find the cost of the good sold.

YR TWid 15,000 F, AfIT WP 6,000 F 3R a¢ F ERM $a TS 30,000 = &1 T8 ST T A1 o URMIS Wi T YTa 1,500 F B S1b e +f =z o
T T AT B B T
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Options:
1) Rs 40,000
40,000 =

2) Rs 39,000
39,000 =

3) Rs 37,500
37,500 &

4) Rs 36,000
36,000 &

Correct Answer: Rs 37,500
37,500 ¥

Candidate Answer: Rs 37,500
37,500 =

QID : 534 - Average inventory is Rs 12,000 and closing inventory is Rs 3,000 more than opening inventory. The value of closing inventory?

3 Tt 12,000 F § R 3ifom ATergEt uRMYE A1a G2t § 3,000 F $4fdE 71 Sifon A@ R g | ?

Options:
1) Rs 12,000
12,000 =

2) Rs 24,000
24,000 %=

3) Rs 10,500
10,500 =

4) Rs 13,500
13,500 &

Correct Answer: Rs 13,500
13,500 =

Candidate Answer: Rs 13,500
13,500 =

QID : 535 - Revenue is said to have been earned when

o Siff foam T T S § At
Options:
1) sale is made

IEEAIESLY

2) cash is received
e, T YT B ST

3) goods are manufactured
HIA

4) it is accounted for

9 95 feare # foran smw

Correct Answer: sale is made

farnl 81 &Y

Candidate Answer: it is accounted for

W9 9% feue | ferar sime

QID : 536 - A firm commenced business on 1st January 2015, purchased goods costing Rs 90,000. A sum of Rs 6,000 was spent on freight inwards. At the end of

the year, the cost of goods still unsold was Rs 12,000. Sales during the year Rs. 1,20,000. What is the Gross Profit earned by the firm?

58 & A 1 A 2015 B HRIEGR L= 371 90,000 F e HT THH TIaT R I Gl W 6,000 = W U1 a9 & 3+ § 12,000 F eI HT JHM T AT 5t

forepT 16T Tl @ & SR 1,20,000 T Bt [§e) g5 | B gRT IfoTd Wbt A SRy ?
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Options:
1) Rs 36,000
36,000 ¥

2) Rs 30,000
30,000 &

3) Rs 42,000
42,000 &

4) Rs 38,000
38,000 &

Correct Answer: Rs 36,000
36,000 =

Candidate Answer: Rs 36,000
36,000 ¥

QID : 537 - The receipts and payments account for an non-profit organization is a

Tt TR-amY o o1 Tift SR St ara o TR &1 81T § 2
Options:

1) Nominal Account

G- T

2) Real Account

3) Income Statement Account
3

4) Financial Account
Correct Answer: Real Account

Candidate Answer: Nominal Account
Y- Tl

QID : 538 - What amount should be credited to the Income & expenditure Account as Subscriptions as given in the following information:
In 2015, Subscriptions received Rs. 21,000 including Rs. 400 for 2014 and Rs. 500 for 2016. On 31 December 2015, Subscriptions due but not received Rs. 700.

frffed ga= & R orguR oma ok oo o & siftigm (39) & w0 & o I hfee &) st anfge 2

T 2015 & YT 3ifligH 21,000 = o1 o 9 2014 F 400 F 3R I 2016 & 500 T RMAA § 1 31 AR, 2015 I 700 ¥ BT (MG T U7 fwg Tt =T} goum 2l
Options:

1) Rls. 22,600

22,600 &

2) Rs. 21,700
21,700 &

3) Rs. 21,300
21,300 &

4) Rs. 20,800
20,800 %=

Correct Answer: Rs. 20,800
20,800 ¥

Candidate Answer: Rs. 22,600
22,600 ¥

QID : 539 - Early payment of Bill of exchange is called
A = 3 g el sl R FEa | 2
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Options:
1) Retirement

RCRIUCE]

2) Renewal

3) Discount
EEL

4) Endorsement

T

Correct Answer: Retirement

qd YT

Candidate Answer: Retirement

9d YT

QID : 540 - Drawee for bills of exchange is the person who

fafma-u7 & R el 98 afad § S -
Options:
1) draws a bill of exchange

fafmg o emeRd wxar @

2) presents the bill of exchange for payment

Sferft & fog fafa m & @

3) accepts the Bill of exchange
el

4) holds the bill of exchange till maturity
yRuea g e e w W g

Correct Answer: accepts the Bill of exchange
U AT 8

Candidate Answer: draws a bill of exchange
T 3MERA FRelT 8

QID : 541 - All reports are submitted by the Comptroller and Auditor General of India to the

URA & I 3R HeTara werd gR1 @it RUIE 5 TR &1 St § 2
Options:

1) Prime Minister

Ty w2

2) President
eyt

X

3) President and Governors of State.

I SR AT P roguTe
4) Fir)ance Minister

Correct Answer: President and Governors of State.

AUl SR Tl F reguTe

Candidate Answer: President

=

Download More PapeSafseotiongommisicrovtJobsAlert.In

QID : 542 - Which Committee of Parliament in India examines the Audit Report of Comptroller and Auditor General ?

URT H - GO T HRd F e iR HeieR e 31 wliet RuiE ot g sl § ?
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Options:
1) Estimates Committee
Ulaha Hrafd

2) Committee on Public Audit
SRaTae Qe

3) Assurance Committee
SRARH WfAfd

4) Public Accounts Committee

<ilep oa A

Correct Answer: Public Accounts Committee

Candidate Answer: Public Accounts Committee

QID : 543 - Which of the following duties is not performed by the Comptroller and Auditor General of India ?

PR § @ -1 o/ (et YRd & Fod 3R TeRRatRied gRI e fbar wmar g 2

Options:
1) To audit and report on all expenditure from the consolidated fund of India.

URT B! Ffhd (Y T gu Tt ooa &) SRamaten &1 3R RUE

2) To audit and report on all expenditure from the Contingency Funds & Public Accounts
HHHH

IR e ot | g Tt o B o Tl A 3R ROYE &

3) To audit and report on all trading manufacturing and profit & loss accounts

v R fafmior @ik arv-g1 SRal @t Srar wle e 3R Rl &

4) To control the receipt and issue of public Money
o Bt Ift IR e &t Feifa s

Correct Answer: To control the receipt and issue of public Money
o B Ty 3R e &t Fafa we

Candidate Answer: To control the receipt and issue of public Money

S ¢ P I iR FefA &1 Al s

QID : 544 - The Finance Commission recommends

ot ofminT forerds Ty & RIGTRY el @ 2
Options:
1) Distribution of financial resources between the various ministries

fafty=1 Harerat ) fa<ii SameY & faaRor & dey o

2) Distribution of financial resources between the Union & the State

Ty 3R T & o faxig et & fIaru & gey &

3) Distribution of financial resources from the states to various Panchayati Raj
' i [ e & fIaRur & day o

4) Distribution of financial resources from the Union to various plan heads

Ty ¥ Al aer-ael # fa<ita et & faaror & dey &

Correct Answer: Distribution of financial resources between the Union & the State
Ty 3R I & o i Tt & faaro & dey |
Candidate Answer: Distribution of financial resources between the Union & the State

9 3R Toul & o it S & faaeo & ddy &

QID : 545 - Under which Article of the Constitution Finance Commission is constituted?

far ST Bt o Ay F BH-T 3 B AT PSR 2
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Options:
1) Article 315
315

2) Article 280
3TwG 280

3) Article 148
148

4) Article 76
3HTHG 76

Correct Answer: Article 280
280

Candidate Answer: Article 315
315

QID : 546 - Which is the constitutional authority in India to decide the share of the states from the proceeds of taxes levied and collected by the Union?

T WHR GRT T T IR Y T T A1 & g areit oma | It ot g Fefed a7 & foe ura & wifafies miie<or oH-arg 2

Options:
1) Planning Commission

2) Finance Commission

3) Finance Minister pf Govt. of India.
YR WHR & fag W=

4) Union Cabinet
SR T uRwg
Correct Answer: Finance Commission

Candidate Answer: Finance Commission

QID : 547 - When a rational person makes a choice, the concept of opportunity cost enters, thus opportunity cost is defined as

TS P e T SIfRT T HRAT § AN HAR AT P} HHea1 GH SATel} B 1 3 TSR SR AN Bl g7 URHIG R Tobdl §

Options:
1) the benefit gained in terms of the next best alternative foregone when a choice is made

T fhT OH TR 3FT afaH faesen 9 firem arer ey

2) the benefit lost in terms of the next best alternative foregone when a choice is made

TP BT M IR SATa Yok e B8 37 WR M &1 JHaH

3) the benefit lost in terms of the next best alternative gained when a choice is made

To T TH IR ST FafaH fadbed 1 BTt O TR T T JHEH

4) the benefit lost in terms of the next best alternative foregone when there is no choice at all

313 1t 789 7 U M |, 3T Tad ey &l Bis 37 W T BT JHaH

Correct Answer: the benefit lost in terms of the next best alternative foregone when a choice is made

TG T S W STeT Tl faded SIS 3 W A $T THIH

Candidate Answer: the benefit lost in terms of the next best alternative foregone when a choice is made

To 5T T TR ST FaTH e B 3 R @ T JHam

QID : 548 - The three main features of the capitalist economies are :

Yohtarel erfeawaht @t & g et @ g 2
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Options:
1) Prices,. Patents and Property rights
PITd, UcT 3R TRy 3

2) Prices, Profit and Property rights
P, A4 3R JEfRy o1 3HfBR

3) Prices, Profits and Patents

4).Patent5, Profit and Property rights
e, A R Ty #7 3fieR

Correct Answer: Prices, Profit and Property rights

P, AH 3R JERy o1 HRBR

Candidate Answer: Prices, Profits and Patents
FIAd, Y IR U

QID : 549 - In a centrally planned economy the factor of production

g AR sidferaw & IAIGH & HREB! &1
Options:
1) Are owned by the govt and the welfare of the people are left to the market process.

Wi WBR P &Y H ST & 3R ST BT BTl SoiR- Hiehdl W Bl i3 Sian 21

2) Are owned by the govt and the welfare of the people is the prime concern.

WG WBR & &7 T giaT 8 3R ST BT Hea1ol Y& Hedqul giar gl

3) Are owned by the people and the market process determines the welfare of the people.

T ST & BT Bl § 3R STSIR-Ufhar Siell T shearor iR et 81

4) Are determined by the market process and the welfare of the people are determined by the Govt.

TR-UfHT gRT 5T ST € TR S-Ta ST HedTul TRDR gRT Feiia forar Srar 3 |

Correct Answer: Are owned by the govt and the welfare of the people is the prime concern.

Wd TWHR $ g1 H 81 & 3R STl BT Hedivl Tid: Heaqul gl 2|

Candidate Answer: Are owned by the govt and the welfare of the people is the prime concern.

W TWHR $ B H 8T & 3R STdT BT HedIvl T&d: Heaqul gidl 2|

QID : 550 - There is no time lag in the production and consumption of

T ¥ foraes Iare oiR IuaivT & Tr faemen 76 gt 2
Options:

1) Capital goods

St AT

2) Services

3) Single use goods
TdHd TN AT

4) Durable goods
iG]

Correct Answer: Services

Candidate Answer: Durable goods
CHIS, 11d

QID : 551 - Which of the following is a reason for the negative slope of the Production Possibility Curve.

IUTE GHIETT aeh &b THRIFD el & ford 7y § § o1 SR & 2
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Options:
1) The inverse relationship petwegn the use of technology and the use of natural resources

& " fAwdd Heiy

2) Scarcity at any point of time due to limited amount of productive resources
ISR 3! Hifd °En & SR, B falkre g R &

3) Resource specialisation
e

4) Increasing opportunity costs
Tgdl g3 AR ART

Correct Answer: Scarcity at any point of time due to limited amount of productive resources

I IareAt @) St 1E & HRu, B ke gwg w e

Candidate Answer: Increasing opportunity costs
Tt §3 AR AR

QID : 552 - The law of demand indicates :

it &1 fam AR axar
Options:
1) The relationship between the increase of a consumer and the quantity demanded

Iu e Bt e | gig 3R T B HET H Ty B

2) The relationship between the price of a commodity and the quantity demanded

I B P AR a%g B AR ST aTelt qEn &S fi Hey B

3) The relationship between price of one commodity and the price of substitute

T 5 B! DI 3R ISP WFG a¥g B PG P o1 Taef Bl

4) The relationship between prices of two commaodities

3l gegeft @l Bl & o Gy B

Correct Answer: The relationship between the price of a commodity and the quantity demanded

T BT BT R I BT AT ST aTel THT F S Ty B

Candidate Answer: The relationship between the price of a commaodity and the quantity demanded

T P BT AR I BT AT 9 ITeH AT B S Y HY

QID : 553 - If the demand for a good is price-elastic, a fall in its price will lead to

e ol o Y 71 PHT-dd 8 A SD! BiHd A FRIGT BT 71 HF R ?
Options:

1) A rise in total demand for the good

T B! P A A i

2) A fall in its sales

Iga@! fow! & fRae

3) A fall in total demand

Pa g § fR@e

4) No change in total demand
o 7§ PIs uRad Ta1

Correct Answer: A rise in total demand for the good
& B pa AT H g
Candidate Answer: A rise in total demand for the good

I B pot AT A gl

QID : 554 - Which of the following is not a characteristic of Indifference Curves ?

Frofefad & - SFREH g @1 [afkred 78§ ?
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Options:
1) They are convex to the qrigin
Y IS P YT I B 3

2) They slope downwards from left to right
J 9 9§ g Y Y ok gaaT g1 &

3) They can never intersect each other

3 1 g B U T BIed

4) They can touch either axis

Y et o eref ) T R gbal §

Correct Answer: They are convex to the origin
A I P THY I 1 &

Candidate Answer: [ NOT ANSWERED ]

QID : 555 - When marginal utility declines and is positive
e Fiwfd ST et § ok IPRIEs gt § o -

Options:
1) Total utility increases at a decreasing rate
P IUAII Tt R W TG §

2) Total Utility increases at an increasing rate

SA ST Fell & R Fgel!

3) Total utility is constant

P IUAAAT FRR Tl §

4) Total utility is decreasing
Pl SUATT BH gt B

Correct Answer: Total utility increases at a decreasing rate

Fo IUAT Tt R W Fgdt §

Candidate Answer: Total utility increases at a decreasing rate

P IR T 3 R ggat 8

QID : 556 - Which of the following is the correct formula for measuring income elasticity of demand ?

T Y ST T T & oY 76 | o9 81 BT dH- 6 2
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Options:
1)

% Change in quantity demanded
% Change in income

Al TS A H %
A H % e

2)
Change in income

Change in quantity demanded

A Y e
ERIER: EIRRERE

3)
% Change in price

% Change in income
e 1 % AR
A H % AR

4)
Change in price

Change in quantity demanded
T H 3
HIA T 71 H 3

Correct Answer:
% Change in quantity demanded

% Change in income

i T2 A3 H % e
AT % 1

Candidate Answer:
Change in price

Change in quantity demanded
oeg o 3R
it T /T H 3R

QID : 557 - A good is termed as an inferior good if
5l g &) P PR P 3g FeT oM B AR -

Options:

1) Its consumption increases with a rise in income
3T T GG & TU-TY ITHT IUUNT Tl §

2) Its consumption reduces with a rise in Income
T & I B TY-T1Y ITPT IUANT Tedl §

3) Its consumption reduces with a rise in price

& - BT

4) Its consumption remains the same with a rise in price

TR R I9P ITAN H FIS gRad

Correct Answer: Its consumption reduces with a rise in Income
3T B i &b -1y ST SUGNT vedl §

Candidate Answer: Its consumption reduces with a rise in Income
3 & 9 b Y-y ST SUANT Tedl &
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QID : 558 - A consumer increases its demand for a commodity from 40 to 50 units when its price falls by 10%. The price elasticity of demand is

e a%g & T H 10% FR1aT BF TR BIE ITHIGT (U=t AT 40 T TGT R 50 X a1 § | TR P SAd-3d 8-
Options:
1)-0.5

2)-1.5
3)-2.5

4)-3.5
Correct Answer: -2.5

Candidate Answer: -2.5

QID : 559 - Contraction of demand is the result of

T Tpa faamT aRom § 2
Options:
1) Decrease in the number of consumers.

Iuiaarell &t Wem § HH |

2) Increase in the price of the good consumed.

IUHIT B} T Tt FH Fa H 3G

3) Increase in the price of other related goods

I TS TGS B piEd A g |
4) Decrease in the income of the purchasers.
parait a1 3mg H Y |

Correct Answer: Increase in the price of the good consumed.

SULT o8 T gt ) el & gt

Candidate Answer: Decrease in the income of the purchasers.

il Bt 3 Tt |

QID : 560 - Chicken and fish are substitutes. If the price of chicken increases, the demand for fish will

Tt 3R Aeh RIFT= a5u § 1 afe T & omit 8 gf g% § & v ot |
Options:
1) Increase or decrease but the demand curve for chlcken will not change

gt fareg il @1 AT % W Big uRad—

2) Increase and the demand curve for fish will shift rightwards

¢l 3R Aol 1 AT ash SR 3R I e Sia

3) Not change but there will be movement along the demand curve for fish.

# B¥E gRad 71 g fb=g Foeht & Hiv aeh & SAR-=erd g

4) Decrease and the demand curve for fish will shift leftwards

eTht 3R Aol BT AT ap IR 3R Bl g S

Correct Answer: Increase and the demand curve for fish will shift rightwards

eIt 3R Tl T AT Ieh SRff 3R P ge S

Candidate Answer: Increase and the demand curve for fish will shift rightwards

Tt 3R TSl &1 AT Ieh AT 3R Pl ge @

QID : 561 - The opportunity cost of a factor of production is

5t SUTE & HRSP B TR AN §
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Options:
1) what has to be paid to retain it in its present use.

JIHF ST H T 36 37 P fow S off A ey et U

2) what it is earning its present uses.

ITF IIHH ST H I S A iRl F e ¥

3) what it can earn in total other uses.

S 3= IuUNTT H I St a5 i B TP

4) what it can earn in the long period.
&t 1t 7 S 95 Aol R b

Correct Answer: what has to be paid to retain it in its present use.

TAAM IUANT H T | & P forg o ot AR ereT HeA U9

Candidate Answer: what has to be paid to retain it in its present use.

FITF T H T X8 37 & fw i ot ARy sy At U

QID : 562 - Which one of the following is not a characteristic of labour as a factor of production ?

19 o ¥ HH IU1E & U RS & T H o7 3! Alkwedr T8 g 2
Options:
1) Labour is inseparable from the labourer

o1 DY i § 3T T fbar o W

2) Labour has high bargaining power
o1 & Ta-Ha Bt eifie wfed §

3) Labour is perishable
o AREH §

4) Labour differs from labourer to labourer
TR S BT 4F G Y 3T B §

Correct Answer: Labour has high bargaining power

o1 ¥ Hie-HTg & e wie &

Candidate Answer: Labour is perishable
YT TIREH §

QID : 563 - Short Run Total Cost Curve can never be less than Long Run Total Cost Curve.

TP H& AT g Bt 1 STpIeiA avTd ah | FH T8 &1 Jabat
Options:
1) Always True

TR W T 8

2) Often True

SRR L BT ®

3) Sometimes True

Bt Pt TG ST e

4) Never True

P T T DT ¥

Correct Answer: Always True

=N W T 8

Candidate Answer: Never True

RN RIS

QID : 564 - Marginal cost is defined as :

Jeid drTd Bl e UeR uRwiRg fbar s g 2
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Options:
1) the change in total cost due to one unit change in output.
A 1% gfie uRadH R R Fa ard §

2) total cost divided by total output.
pa fia @ fauiforg $a ara

3) change in output due to one unit change in input.

P B T e uRadH eR 0% R &

4) total product divided by quantity of inputs.
o= AEn 9 faviord a Sded

Correct Answer: the change in total cost due to one unit change in output.

i & w gfie uRad §R W od ara &

Candldate Answer: change in output due to one unit change in input.

A 0 g uRade g W il 3 aRad

QID : 565 - Production function explains the relationship between
IUTEA B 54 & o Uey Jard g ?

Options:

1)_initia| inputs and ultimate output

3R sifom ffa

2) inputs arjd ultimate consumption
IR 3

3) output and consumption
3R JHRT

4) output and exports
3R Fafa
Correct Answer:.initial inputs and ultimate output

Ca!ndidate Answgr: initial inputs and ultimate output

QID : 566 - In the initial stages of production, generally the increasing returns to scale operate because

JATE & YR =R § WHRIG: MHTRD Gth 1 JTRIR gig AL et & i -
Options:

1) Input is increased

[EERICH REIR K

2) Capital equipment is new
Yol JUHR Y

3) Economies of scale operate
HH ;

4) Absenpe of bqttleqecks ir) production
IdreA §

Correct Answer: Economies of scale operate
P BT &

Candidate Answer: Capital equipment is new

Uil SUSRU TUEN §

QID : 567 - If we have constant returns to scale and we increase the quantity of labour used per unit of time by 10% but keep the amount of capital constant, output
will

e sirepTiRes GATHT 81 SR 9 Ui gfie T & o/ 3 10 Wi A et ¢ fawg golt @t oen fRR & ot ffa
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Options:
1) Increase by 10%
10% s

2) Decrease by 10%
10% °&T

3) Increase by more than 10%

10% ¥ 34 T

4) Increase by less than 10%
10% ¥ &9 FeT

Correct Answer: Increase by less than 10%
10% ¥ &Y g

Candidate Answer: Increase by 10%
10% S

QID : 568 - In the context of oligopoly, the kinked demand hypothesis is designed to explain

SISR & e & RGRa A &t uReer1 31 e &3 & fin e sl g 2
Options:

1) Price and output determination

HAd AR Iae FAuRor

2) Price Rigidity
P ST

3) Price leadership

4) Collusion among rivals
{3 A wig-1i

Correct Answer: Price Rigidity
PAd TSl

Candiqlate Answer: Collusion among rivals
<t gis-Tis

QID : 569 - Price Discrimination exists when

Fid fave ST e o -
Options:
1) The same product is sold at the same price to different buyers

& B UG 37EHT-37eHT BUGRI 1 T 81 & A UR o] S

2) The same product is sold at.different prices to different buyers
T &l STE STEHT-STT TIEGRI B SHT-3{EHT ST R ST ST

3) Different product is sold at different prices to different buyers
STT-STT IATG, S-S WIGR] Bl SHTHT-3THT BIHC! TR ol ST

4) None of the options

EERIEEEIERH]

Correct Answer: The same product is sold at different prices to different buyers
TP B IAIG M- TIGRT BT ST~ ST Sl OR Sl oY

Candidate Answer: The same product is sold at different prices to different buyers
TP B IUIG -3 TIGRT DI STT-THT FHIHd! OR 54T 91Y

QID : 570 - Which of the following statements is incorrect ?

9§ A PH-T B T TG R ?
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Options:
1) Under monopoly, there is no difference bet)Neen a firm and an industry

TSR § T BH 3R I § IS 3R -Te] eIl

2) A monopolist may resFrict output and raise prices
I B! UfASRIT Bb PG g¢1 Fbdl §

3) Commodities offered for sales under perfect competltlon will be heterogeneous

7 fot & fo vgd avqe vadd

4) Product differentiation is peculiar to monopolistic competition
IdTe-[ANE, TSR Ui ot U

Correct Answer: Commodities offered for sales under perfect competition will be heterogeneous

B faet & for e sy veia gl

Candidate Answer Commodities offered for sales under perfect competition will be heterogeneous

o TRgd Iqe g givt

QID : 571 - Which of the following statement is true for a perfectly competitive firm

ot ufRiht o & Wl | S0 @ SH-9 U e R 2
Options:
1) In the long run all firms earn super normal profits

<1 o 7 Tt B i Ay Siffd et §

2) In the long run all firms are making losses

e P 7 9 w1 B BNl §

3) In the long run all firms in the market earn only normal profit

e 1ot 7 IR Bt gt BAf B Had JHRT AH BT §

4) In the long run all firms have slowly increased profits
el 8 gt AT 1 Ty R-R §¢ W ?

Correct Answer: In the long run all firms in the market earn only normal profit

& ret # IR Bt gt BAf B Had IR ATH BT @

Candidate Answer: In the long run all firms in the market earn only normal profit

2 I IR &) Tt B Bl e T AH BT 8

QID : 572 - A decrease in demand with the supply curve remaining constant leads to

Uff o & fRR T R afe 7 & Ht S B A ST uRomH T § 2

Options:
1) An increase in both equmbrlum prlce and quantity

Tga HIgd SR A G H 3 g

2) A fall in both equilibrium price and quantity
e P R T G F FRde 8t &

3) An increase in equilibrium price and a fall in quantity

Hger d | g B & 3R AR A fiRmae gkt 8

4) An fall in equmbnum price but increase in quantity

Tge wAd § fiRiae f=g aem o

Correct Answer: A fall in both equilibrium price and quantity

TgeH FHG SR HE GHT A FRige gt &

Candidate Answer: A fall in both equilibrium price and quantity

TeH P SR H & § fRGe Bl €

QID : 573 - Identify a characteristic of a monopolistic competitive market from the following :

Fafifed # 9 Tpiiier uicai i STWR i T fafRed ge=mg 2
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Options:
1) Existence of large number of buyers and sellers

el 3R fasharafl &t o<t T

2) Individual firms are price-takers

3) Heavy costs are incurred to attract customers

B & T Wt T @ B o @

4) No barriers to entry /exit of firms

B & FI/SRITHT W PIg P 81 gill §

Correct Answer: Heavy costs are incurred to attract customers

3B e P oy W T H W bl Wl &

Candidate Answer: Individual firms are price-takers

QID : 574 - An increase in output in a perfectly competitive and constant cost industry which is in the long run equilibrium, will come

T gutaar ufaanft ok fRR arTd I & |5 efardn dgad & 7, 3dmed § gig gt
Options:
1) entirely frqm new firms

quid: TS AN

2) entirely from existing firms

3) elther ent|re|y from new firms or entirely from existing firms

A J a1 guld: faemE wEf Y

4) partly from new firms and from existing firms
ST TS WA I 3R Sfra: f

Correct Answer entirely from new firms

gofd: € At

Candidate Answer entirely from new firms

e 7 i

QID : 575 - The Ministry of Statistics and Programme Implementation has revised the base year of national income estimation from 2004-05 to

i 3R BRIHH HEfaaT HAe™ 3 AT 31T UTaha BT YR TN 2004-05 I TR TR 01 R foar g 2
Options:
1) 2009-2010

2) 2010-2011
3) 2011-2012

4) 2012-2013
Correct Answer: 2011-2012

Candidate Answer: 2011-2012

QID : 576 - Trickle Down theory of development holds that

fara & Tu Rigid & SgaR
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Options:
1) Global prosperity spreads to domestic Economy.
W Srfoae 9 el B

2) Development spreads down wards throughout the economy and in all sectors.
o Srefogaw ofR Wt &l a e g

3) Rate of growth of an economy is inversely proportional to the rates of taxation.

fft srfeae 3t 9ig &1 R, HUYF BT R F faawHd: guIE Bt 31

4) Rate of growth of on economy is independent of the rate of taxation.

Tt srefoaan @1 35 Pt R FIUR P & Y WA i 8

Correct Answer: Development spreads down wards throughout the economy and in all sectors.

T 12 @Y 3R Trgof erefoae SR @t &5 e e B

Candidate Answer: Development spreads down wards throughout the economy and in all sectors.
3R grguf srfegawr ok Tt &5 ah radr g

QID : 577 - Liberalisation of trade by the government means

WHR GRT HUR F IGRIBR BT 373 g
Options:
1) Removal of export credit only

Pad Faid Hige Bl gerT

2) Removal of import credit only

HId AT ST Bl geHl

3) Removal of tariff, subsidies and other restrictions on flow of goods and services
TTa 3R Jarsit & vaTe W A 2R, siffer wergar ok s ey ger

4) Exporting of only goods and not services

Correct Answer: Removal of tariff, subsidies and other restriptions on flow of goods and services
TTe 3R arai & YaE R I TR, e Tewmdr iR o= ufdss g

Candidate Apswer: Removal of tariff, subsidies and other re§trictions on flow of goods and services
TTe SR Farsit F yaE R A TR, S Tewdr iR oy ufasy g

QID : 578 - The highest share in power generation in India is of
YR ¥ fagad-3dre & gaiftie sixeH g § 2

Options:
1) Atomic power

2) Hydro power
EERIGES

3) Thermal power
$EH

4) Wind power
g IfeRd

Correct Answer: Thermal power
ST Tfad

Candidate Answer: Thermal power
ST e

QID : 579 - Which one of the following is not the consequence of high population growth in India ?
FfifEd 3 @ SH-91 YRd § S S gl &1 uRumH 81§ ?
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Options:
1) Ecological degradation

2) Unemployment and unproductive consumers.

SdrGs JuHIeT

3) Insufficient per capita availability of food grains
TR P 3t i e Juaskiar

4) Adverse balance of payments

fowdia ymam 3T

Correct Answer: Adverse balance of payments

fudia yram g

Candidate Answer: Adverse balance of payments

udia yam 3T

QID : 580 - Which one of the following is not correct about the Saansad Adarsh Gram Yojana ?

e el I AT & Taiy B 398 I HIH-91 ey It gl § 2

Options:

1) It was !aunched by Prime Minister, on the birth anniversary of Lok Nayak Jai Prakash Narain.
g Y Tl GRT Al T ST YhTRN ARV & SHGad TR 3RY &1 178 ot |

2) MPs to adopt villages for their holistic development.

o1t % Trguf faer & R Tee gew Tl @Y 3o §

3) Special emphasis on enabling every poor household to come out of poverty

% T TRAR DI TR | IR H Ferdl i R

4) Joining every village with a national highway
Blic)

Correct Answer: Joining every village with a national highway

UQ® T B I ISHF J ST

Candidate Answer: Special emphasis on enabling every poor household to come out of poverty

TP T TRAR BT TRIs ¥ IR & Ferdl o R

QID : 581 - Fiscal deficit means

AP T F =T B -
Options:
1) The excess of total expenditure (only revenue) over the sum revenue receipts excluding borrowing

FUN I BT HR Fd o UM I HfAF ot 394 (Hdal Iora)

2) The excess of total expenditure (only revenue) over the sum of revenue receipts including borrowing

Pl M B U F o1 Tt F Sifdeh Hot o (S o)

3) The excess of total expenditure (capital and revenue) over the sum of revenue and capital receipts excluding borrowing
f oI 3R USiTd Wit § e $o g9 (Fadt o)

4) The excess of total expenditure (capital and revenue) over the sum of revenue and capital receipts including borrowing

HUT B AT BRp Jored IR Yolird ifeerat I 1 ot o (Yol SR rora)

Correct Answer: The excess of total expendlture (capital and revenue) over the sum of revenue and capital receipts excluding borrowing

HUT Bl BISHR Ao 3R YSivTd Tierat F b Ho g7 (Fact o)

Candidate Answer: The excess of total expenditure (only revenue) over the sum revenue receipts excluding borrowing

HUT B BIS HR P oid Wl ¥ SIS $a T (had Joid)

QID : 582 - Which of the following cannot be termed as an anti-poverty programme/ scheme?

= A BH-I TRst A BriepH/dIe el Bl o Tebe § ?
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Options:
1) RLEGP
RT3 S

2) NREP
.aRE U

3) MRTP
TH.R.AL

4) IRDP
318, 3R, ST

Correct Answer: MRTP
W3R

Candidate Answer: MRTP
IR

QID : 583 - The most important source of capital formation in India has been.

HRA H Uit o &1 waiite deayl 9 | g 2
Options:
1) Household savings

2) Public sector savings

3) Govt revenue surplus
AR oG

4) Corporate savings
Correct Answer: Household savings

Candidate Answer: Corporate savings

QID : 584 - National Income is the same as

TG ST TR R S -
Options:
1) Net domestic product at market price

TR P R e R SUE 8

2) Net domestic product at factor cost
PRS NG TR Fae W IATE &

3) Net national product at market price

R A R Fad I IAE 81

4) Net national product at factor cost
PRS NG R e I AT &

Correct Answer: Net national product at factor cost
RS AN R Fad A€ IATE 8

Candidate Answer: Net national product at factor cost
PRB AR W Had I IS &

QID : 585 - The Gross Domestic Product (GDP) deflator is measured by

Thel TR SIS TP e Bl & AT STl & 2
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Options:
1)
Nominal GDP
— X100
Real GDP
X100
ARdla® Gdhd R 3G
2)
Real GDP
— X100
Nominal GDP
IS TP WY SAE 00
Hifi® Ued Wiy Sdlg
3)
MNominal GDP
—— X100
Real NNP
Mige Ydha g G
erdihh X 100
ardfde Had agig g
4)
Mominal NNP
— X100
Real GDP
Hifsw Faa v sag
— X 100
drKifde b T 3dIg
Correct Answer:
Nominal GDP
——— X100
Real GDP
X 100
FAG® THE U 3G
Candidate Answer:
Nominal GDP
— X 100
Real GDP
X100
FAG® THa U 3G

QID : 586 - Disguised unemployment refers to
TS RIS F R S

Options:
1) Persons with no proper jobs.

3 oafe e IR Suged ISR T8 &

2) Unemployment of people a.bqve to 60 years of age.

60 T9 ¥ 31 oY & iaaa

3) More persons employed for a job which less persons can accomplish.
S H1Y HH Afad X GHd gl 39D [

4) Unemployment among rural woman.

aeftor wfgensht #

Correct Answer: More persons employed for a job which less persons can accomplish.

St T BH Al TR THhd 51 SUP for i Ry R

Candidate Answer: More persons employed for a job which less persons can accomplish.
S HH HH Al HR TP i 39D [T i
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QID : 587 - Consider the following statements about GST bill of India

1) GST consists of three components such as central- GST (CGST), State- GST (SGST) and Local- GST (LGST)
2) CGST & SGST will apply to all transactions of goods & services

Which of the above statements are correct ?
URT P "9 3R YaT B2 (SN.09.3.) & ooy 7 FAfIRId Hui o1 0 :

1) ‘T AR YA TR P TH IeP &, O9- 'Poiid G 3R a1 H (.o, 0. 2.) o0 aq 37R Ja7 e (V... SR I I 3R JaT R (TS ua. )
2) BT T 3R QAT FR IR Aoy TG AR AT B IX3HT 3R Faraif & Tt A W AR SR

IUg B Y HH-IT HYH TEI S ?
Options:

1) Only 1

Fad 1

2) Only 2
Pad 2

3) Both 1 & 2
1 3R 2 3t

4) Neither of the two

CEIEREI RG]

Correct Answer: Only 2

FId 2

Candidate Answer: Only 1
Fad 1

QID : 588 - In the post-reforms period, Foreign Exchange Regulation Act was replaced by

FURI & T @t Ay T = fafme Fame siftfa & fos wfaenfta fasar ma 2
Options:

1) Foreign Exchange Management Act.

fae=f a1 yeiy sffam

2) Funds Exchange Management Act.
sy

3) Fiscal Exchange Management Act.
oy
4) Foreign Equity Management Act.
ee

Correct Answer: Foreign Exchange Management Act.

fad=h ger veiy srfafan
Candidate Answer: Foreign Exchange Management Act.

fae=h gg1 vely sy

QID : 589 - refers to disposal of public sector unit's equity in the market.

TH A HH IOR T WdoE &5 IHC 31 3@t & Huer &) 3fg srarg 2
Options:
1) Liberalisation

2) Globalisation
3) Disinvestment

4) Privatisation
Correct Answer: Disinvestment

Candidate Answer: Disinvestment

http://thepracticetest.in/csdecjan1 7/rQﬂﬁéﬂ}m@s@ﬂ@iﬁj%@mgﬁpiaﬁ@ﬁmm oricbsATidctesssskert. In 31/35



1/25/2017 Download More PapeiafSsisction@ommisicrovtJobsAlert.In

QID : 590 - Globalisation is a process of increasing economic integration in the world among

xdiaur faza B forass g i e agm &1 ufkar @ ?
Options:
1) Trade Qrganisations

2) Social organisations

EiC)

3) Countries

CRIEACEl

4) Financial Institutions

faxig derelf & <t

Correct Answer: Countries

Capdidate Answer: Countries

R

QID : 591 - UDAY Stands for

3T (UDAY) I 7T 3T § ?
Options:

1) Unmukt Deficit Assurance Yojna
I IIeT STRAT Fior1

2) Ujwal Discom Assurance Yojna
Ioolad [SEhiT SRR o1

3) Unmukt Discom Assurance Yojna
I [T SMRarH o

4) Ujjwal deficit Assurance Yojna
Jooldd YIeT RARTT

Correct Answer: Ujwal Discom Assurance Yojna
Iooqd feTmiT TRAT

Candidate Answer: Unmukt Deficit Assurance Yojna
JHad °IcT HRAT pice)

QID : 592 - Reserve Bank's Liquidity Adjustment Facility (LAF) refers to

o Yo Bt T} THTES YA (TH.LUE.) § e e § ?
Options:
1) Auction qf Treasury Bills

2) Rediscounting of Bills of Exchange
faf o A= &) g JF

3) use of Repo and Reverse Repo
Reikal

4) variation in the Statutory Liquidity Rates (SLR)
ifaferes Thet o=f (TH.UA.3MR.) | uRad=

Correct Answer: use of Repo and Reverse Repo

T SR i X &1 v

Candidate Answer: use of Repo and Reverse Repo

T SR fauda Yot 1w

QID : 593 - When too much money chases too few goods, the resulting inflation is called.

ST g 3ifeie guT sgd e axgal 1 et B df aRum qa whifd Bl Bed §
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Options:
1) Deflation

2) Demand pull inflation
HITST

3) Cost push inflation
NI Thifd

4) Stagflation

e Wpifd

Correct Answer: Demand pull inflation
RS Wit

Candidate Answer: Demand pull inflation
TS

QID : 594 - The effect of increase in Cash Reserve Ratio will be reduced or nullified if

Fad! Rerd srgurd & i &1 UM H1 81 SIem a1 a8 i g s afe:
Options:

1) Bank rate is reduced.

b G FH B & 9

2) Securities are sold in the open market

TRt e SR & S W

3) Statutory Liquidity Reserve (SLR) is Increased.
Jifafe Tehdl o (TH.Te.3MR) a7 41 SIY

4) People don't borrow from non- banking institutions.
S el ¥ YR T

Cprrect Answer: Bank rate is reduced.
b RHA I ST

Candidate Answer: Bank rate is reduced.
Yo RFA R 9T

QID : 595 - NABARD's primary role is -

TaTE BT g F § -

Options:

1) To act as an finance institution
& faxfla dom & S u § s g

2)To issue shares in the market
TR & TR IR H=AT

3) To underwrite shargs of govt agencies
g o

4) To act as a bank
S & U H o B
Correct Answer: To act as an finance institution

s fofla dwm & S0 § a1 ax

Candidatg Answer: Tq act as an finance institution
T i I=H & wu 8 S Al

QID : 596 - Open market operations are

A TR B A F e ?
Options:
1) activities of SEBI reglstered Brokers

st (SEBI) LB garal

2) selling of securltles by RBI
S gRT uf ot agT

3) issue of gilt edged securities by government

WHR GRT I Uiyt S H

4) sale of shares by Foreign Institutional Investors

o eh ST A Sdfel gRT R} Bt faeht
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Correct Answer: selling of securities by RBI

UReira Rerd S gRT wfayferat s

Candidate Answer: selling of securities by RBI

"R Rord § gRT ufde o ==

QID : 597 - An enterprise- wise resource planning (ERP) system integrates the organization's Computerized subsystems and may also provide links to external
parties. Identify the advantage of ERP

TEH-TTd G IS (ERP) YOl $6 & drgediepel Fa-RIel bl weblpel il & SR ST} Uféal ol ffeh 41t Surersys @RaTdl & 1 ERP o @ 3 Y

Options:
1) The re-engineering needed for its implementation should improve business processes

frg smaue ggshfaRe & souR ufhar dgaR gt

2) Customizing the software to suit the unique needs of the organization of all sizes
[ & SaHl SHTTIHATS & AW FUCAIR HECHRS

3) The comprehensiveness of the system reduces resistance to change

ey &) UHdT 3 URadH & R iRy & 8 o §

4) It can be installed by organization of all sizes
g Tt STHR & WG GRT ST [T o Thell §

Correct Answer: The re-engineering needed for its implementation should improve business processes

% H-aT & AT siTawas gHESHAaReT & IR vfhar SgaR gnft

Candidate Answer: The comprehensiveness of the system reduces resistance to change

Ry ) uHd 3 uRad & R Ty &9 8 o1 g

QID : 598 - The Rural Infrastructure Development Fund (RIDF) has been created under.

orfior smenfes TRET e R (RIDF) frass sravfa s man g 2
Options:
1) Reserve Ban of India

2) NABARD
EISISS

3) Ministry of Agriculture
P e

4) Ministry of Rural Development
e warera

Correct Answer: NABARD

BICIS)

Candidate Answer: Ministry of Rural Development

yrfior far Hae

QID : 599 - Which of the following is not a function of the Securities and Exchange Board of India (SEBI)

98 § P-4 T (SEBL) T HH ST 8 2
Options:

1) Supervisjn_g the working of the stock Exchanges
TP Tagisll & B o1 g

2) U_nderwriting new Capital Issues
UGS

3) Regulating merchant banks and mutual funds

TG3Md el B Faftd &l

4) Promoting the development of a healthy Capital market

WY Yofl IR fAHR &1 dgrar 1

Correct Answer: Underwriting new Capital Issues

T Yol PR 3 et o

Candidate Answer: Underwriting new Capital Issues
UGS

http://thepracticetest.in/csdecjan1 7/rm%\é&m@smﬂ@ﬁﬂ%mﬁﬁpig‘;ﬁ@ﬁmm oricbsATidctesssskert. In 34/35



1/25/2017 Download More PapeafSsaissiongommisicrovtJobsAlert.In

QID : 600 - Which of the following are major components of the Information Technology Enabled Services (ITES) industry in India
URT P a1 Tenfient Tadf Jareff (oms. A3 ww.) & Foiad d Y PH-A T Ueh & ?

Options:
1) IT services and BPO

31 & @y R 1.3
2) Manufactgring Services
32 Software Products
IR 3G
4) All the options

of

Correct Answer: All the options

Candidate Answer: All the options
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